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Case study: Inventory out of control

Mich Magni looked at the inventory control chart

and wept. He couldn't understand where it had all
gone so horribly wrong. For 20 years his company
had successfully survived in the competitive world of
pizzas. At first it had been easy. The local demand in
his home town of Bedford had given him a firm base
on which to expand, and the excellent transport links
had encouraged him to extend his target market into
London and the Midlands.

Magni Pizzas produced a range of frozen pizzas, but
its main business was in supplying freshly made
pizzas to supermarkets. Magni purchased ready-
made pizza bases from a local supplier, Bedford
International Pizza Bases (BIPB) plc, and transformed
them into completed pizzas by adding a variety

of different toppings. There had been difficulties

in facing up to competition from larger food
manufacturers, but in recent years the market for
more expensive, individually made pizzas had grown,
and Mich’s business had secured valuable contracts
with two of the UK's largest supermarkets. This had
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persuaded him to set up the new factory, which was
fully automated. The ingredients were delivered
regularly, in small batches, and fed straight into the
production line. Each day’s production schedule was
based on weekly orders from the supermarkets,

so that Mich’s firm had sufficient time to buy in the
inventory needed.

The new factory opened in October and operated
smoothly for the first two months. After 20 years in
the business and the successful expansion of his firm,
Mich decided to take a long holiday in Naples, visiting
relatives and friends whom he had not seen for many
years. Mich’s brother Hugo was placed in temporary
charge.

Mich returned to Bedford in late January. Hugo

had been very evasive on the telephone and Mich
sensed that something might be wrong. The plane
touched down at 6 p.m. on Sunday evening; by 8 p.m.
Mich was in the factory trying to find some clues

to Hugo's behaviour. Mich was disturbed when the
first two letters that he opened were from his new
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supermarket customers, threatening to end the other item that he could find was an inventory control
contracts ‘unless immediate action is taken to improve chart, showing the inventory levels of pizza bases
the reliability of deliveries’. Unfortunately, the only delivered by BIPB (Figure 15.2).
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A Figure 15.2 Inventory levels of pizza bases.
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Mich studied the chart, trying to piece together the events of the past month or so.
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A Figure 15.2 Inventory levels of pizza bases

Mich studied the chart, trying to piece together the events of the past month or so.
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Questions Total: 55 marks

1 In the first eight days, inventory control operated 3 Explain why the zero levels of inventory during
smoothly. Use this information and Figure 15.2 to the period between days 17 and 28 were caused by
work out the value of: different factors from those that led to the
a) the maximum inventory level (1 mark) ~ zero level of inventory on day 13. (8 marks)
b) the buffer inventory level (1 mark) 4 Explain one possible reason for the change
¢) the re-order level, assuming a lead in the chart after day 28. (4 marks)

time of 2 days. (3marks) 5 Eyaluate the implications of the situation

2 Briefly explain two factors that might have shown in the chart for Mich’s business. (16 marks)
caused the company to run out of inventory 6 To what extent could the problems shown a9
on day 13. (6 marks)  have been prevented? Justify your view. (16 marks)
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